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QUESTION 1

You would like to deploy your applications on Alibaba Cloud to meet requirements including cost reduction, improving
service availability, fast deployment- and redundant backup Alibaba Cloud_________products can help meet these
requirements (Number of correct answers 3) 

A. Elastic Compute Service (ECS) image achieve efficient and convenient deployment. 

B. Utilizing Content Delivery Network (CDN) can meet the demands for redundant backup. 

C. Utilizing Server Load Balancer (SLB) and ECS instances can improve data reliability. 

D. Elastic Compute Service (ECS) snapshot satisfies the needs of rapid recovery of applications and data. 

E. Reasonable selection of Regions/Zones meets the location needs of application deployment as well as the demands
for redundantly backup critical business applications and data. 

Correct Answer: ACE 

 

 

QUESTION 2

You are designing a solution for a startup company, the proposed solution is like this You suggest they use ECS
instances to process requests from mobile App clients, and use SLB to distribute data traffic and ensure the load across
each backend ECS instance is balanced. 

Moreover to deal with volatile fluctuations in business volume (page views are much higher on the weekends), you also
suggest they use Auto Scaling to dynamically increase or reduce computing resources. 

The company is satisfied with the solution you proposed. However, they have one concern that when removing an idle
instance from the scaling group: if Auto Scaling shuts the instance down directly, the service running on that instance
will be abruptly terminated, resulting in poor user experience. 

In order to eliminate your customer\\'s concern, which of the following solutions should you recommend them? 

A. Find the ECS instance that is going to be removed from the backend server pool of the SLB instancer and
automatically set the weight of this ECS instance to 0. This instance will not be assigned with new requests, and will be
automatically removed from the backend server pool after existing tasks are completed. 

B. First, insert a script into the image for creating the ECS instance Second, make the script run automatically when the
operating system in this ECS instances is about to shut down. This script contains the processing logic that can ensure
the instance finish all the remaining tasks before shutting down. 

C. Find the ECS instance that is going to be removed from the backend server pool of the SLB instance, and manually
remove this instance from the backend server pool Applications running on this ECS instance will normally return
results, but this instance will not be assigned with new requests. 

D. Use the Lifecycle Hook function embedded m Auto Scaling Define a suitable timeout and a web hook to do the
necessary work before the instance is removed. 

Correct Answer: D 
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QUESTION 3

Which of the following ports does RDS for MySQL listen on by default? 

A. Port 8080 

B. Port 3306 

C. Port 3060 

D. Port 3600 

Correct Answer: B 

 

QUESTION 4

A customer uses Alibaba Cloud Auto Scaling service and creates a scaling group He/she sets the "Minimum number of
instances" to 2 and "Maximum number of instances" to 7. 

After correctly configuring scaling settings, the customer adds a scaling rule "Add 6 ECS instances", and creates a
scheduled task based on this rule. 

And then, the customer checks the scaling group and see it already contains 3 valid ECS instances, he/she then
enables this scaling group immediately. 

How many ECS instance will be added in the scaling group when the scheduled task is activated once\\'? 

A. 0 

B. 2 

C. 4 

D. 6 

Correct Answer: D 

 

QUESTION 5

Names of the files in each OSS bucket must be unique Also, they can be renamed. 

A. True 

B. False 

Correct Answer: B 
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